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7 100kN/M&#8Z % - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEZ S — -~ - —[smEBZEH| — ~ @ — — —
Thst - -~ - —[#husn [ — ~ —| — — Thst = — | Thust -~ - - —
2 100kN/M&#8Z % - -~ - —|3mEBZE| — ~ — — — | 100kN/MZEEZ 5 — -~ - —[smEBZDH| — ~ @ — — —
Thst - -~ - —[#husnt [ — ~ —| — — Thst = — | Thust -~ - - —
3 100kN/m%#BA5 | 1.00 | 000 ~ o062 10919 |3mEBABH| — ~ — — — | 100kN/MZE#BZ% | 1.00 | 1752 ~ 2102 109.19 |3mEBZZ| — ~ — — —
zhLst 100062 ~ 840 100.00 | #nst | 000 ~ 840 | 2.26 11.44 zhLst 1.00 ] 6.00 ~ 1752 100.00| FnLS | 5,00 ~ 21.02| 2.26 11.44
p 100kN/m%#8%z% | 1.00 | 000 ~ 062 109.19 |3mEBz%| — ~ — — — | 100kN/m%#82% | 1.00 | 17.62 ~ 21.02| 109.19 |3m%E#BZ% - ~ — — —
zhLst 100062 ~ 840 100.00 | #npst | 000 ~ 840 | 2.26 11.44 zhLst 1.00 ] 6.00 ~ 1752 100.00| FnLS | 5,00 ~ 21.02| 2.26 11.44
5 100kN/ Mm% Z 5 — - ~ — —|3mZTiB2B| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
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10 100kN/mZz#8z25| 1.00 | 000 ~ 142 121.51 |3mzx#8z22| — ~ — — — | 100kN/ %825 | 1.00 | 11.18 ~ 1589 121.51 |3m%EiBz% - ~ — — —
Thilst 100|142 ~ 920 100.00 | #hst | 000 ~ 9.20| 258 13.05 Thilst 1.00 | 6.00 ~ 1118 100.00 | TnS | 6.00 ~ 1589| 2.68 13.05
11 100kN/mMZz#z25| 1.00 | 000 ~ 1.49| 12276 |3mx#8z23| — ~ — — — | 100kN/mM%E#BZ25 | 1.00 | 1064 ~ 1600 12276 |3mEx#Bz% - ~ — — —
Thilst 100|149 ~ 928\ 100.00| This | 000 ~ 928 2.30 11.62 Thilst 1.00 | 6.00 ~ 1064| 100.00 | TnS | 6.00 ~ 16.00| 2.30 11.62
12 100kN/m%Z#Bz5 | 1.00 | 000 ~ 205| 131.70 |3mEBZB| — ~ — — — | 100kN/mM%E#BZ25 | 1.00 | 10564 ~ 1822 131.70 |3mx#Bzi3% - ~ — — —
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Thilst 100|171 ~ 950 100.00 | #nlst | 0.00 ~ 950 | 2.45 12.38 Thilst 1.00 | 6.00 ~ 1062| 100.00 | TnLS | 6.00 ~ 1646| 2.45 12.38
14 100kN/m%#Bz25 | 1.00 | 000 ~ 1.89| 129.06 |3mEBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1053 ~ 17.47| 129.06 |3mE#Bz% - ~ — — —
Thilst 100189 ~ 967 100.00| This | 000 ~ 967|237 11.96 Thilst 1.00 | 6.00 ~ 1053 100.00 | TnLS | 6.00 ~ 17.47)| 2.37 11.96
15 100kN/m%#B25 | 1.00 | 000 ~ 1.78| 12729 |3mE8Bz2B| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1070 ~ 17.77| 127.29 |3mEx#Bzi% - ~ — — —
Thilst 1.00 178 ~ 956 100.00 | This | 000 ~ 9.56| 2.28 11.53 FhLst 100 500 ~ 1070 100.00| FnS | 5,00 ~ 17.77| 2.28 11.53
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Fhst 100|243 ~ 1022 100.00| FThLs | 000 ~ 1022] 2.84 14.33 zhLst 1.00 | 6.00 ~ 1073 100.00 | FnLS | 6.00 ~ 2058)| 2.84 14.33
17 100kN/m%#8%z% | 1.00 | 000 ~ 233 136.38 |3m&xBZ2%| — ~ — — — | 100kN/m%#82% | 1.00 | 1054 ~ 20.00| 136.38 |3mE#BZ% - ~ — — —
Zhst 1.00 | 283 ~ 1012 100.00 | st | 0.00 ~ 1012| 2.73 13.81 zhLst 1.00 | 5.00 ~ 1054 100.00 | #hs | 5.00 ~ 2000)| 2.73 13.81
18 100kN/m##Bx5 | 1.00 | 0.00 ~ 201 131.04 |3mZ#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1093 ~ 2046 | 131.04 |3m%E#BZ% - ~ — — —
zhLst 100|201 ~ 979\ 100.00| FThis | 000 ~ 9.79| 2656 12.88 zhLst 1.00 ] 56,00 ~ 1093 100.00| FnLS | 5,00 ~ 2046 2.556 12.88
19 100kN/m%#8%z% | 1.00 | 000 ~ 229 135.64 |3m&xBZ2%| — ~ — — — | 100kN/m%#82% | 1.00 | 1089 ~ 2286 13564 |3mEiBZ% - ~ — — —
Zhst 1.00 | 229 ~ 1007 100.00 | Fhst | 0.00 ~ 1007| 2.56 12.92 zhLst 1.00 | 5.00 ~ 1089 100.00 | #hsy | 5.00 ~ 2286 2.66 12.92
20 100kN/m##8%z% | 1.00 | 000 ~ 249 139.01 |3mEBZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 1053 ~ 21.28| 139.01 |3m%E#BZ% - ~ — — —
Fhst 100|249 ~ 1028 100.00| Fhs | 000 ~ 1028| 2.71 1371 zhLst 1.00 | 6.00 ~ 1053 100.00| FnLs | 6.00 ~ 21.28| 2.71 13.71
21 100kN/m%#8%z% | 1.00 | 000 ~ 126 119.14 |3m%x#BZz%| — ~ — — — | 100kN/mM%#82% | 1.00 | 1242 ~ 1985 119.14 |3m%E#BZ% - ~ — — —
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